Dr. Pacheco
8 June, 2004

Chemistry 3311 Exam 1
Crganic 1

(24 points) 1. Name the following compounds.
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{6 points) 2. Give three constitutional isomers for the molecular formula CgH e
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{4 poinis) 3. Draw an acceptable Lewis structure for carbonic acid, the carboxylic acid that has the
formula HOCOOH.

(6 points) 4. Draw the contributing (resonance) structures for CO5”. Show all formal charges.
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(6 points) 5. What is the geometry about the central C in the following compound? Show the bond
dipoles about the central earbon.
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{5 points) 6. Which of the following resonance structures contributes the most to the overall structure of

the molecule? Why? e
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(4 points) 7. What is the clectron configuration for phosphor us 7
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(6 points) 8. Which of the following has the stronger C-C bond? Why? Which is the shorter
C-C bond? Which one has the most acidic hydrogens?
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{12 points) 9. Draw the potential enerﬁr diagram for 3-methylpentane looking down the Cy-C; axis. Put
in all of the Newman Projections represented. Be sure to label the more stable and the less stable
conformations as well as any gauche conformations. (Be sure to label the axes on the diagram.)
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{4 points) 10. Which of the following will have the lower hniling point? Why?
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(8 points) 11. Draw the two chair conformations of each of the following compounds and indicate which
conformer 15 more stable:

cis-1-ethyl-3-methyleyclohexane
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trans-1-ethyl-2-isopropyleyclohexane
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(15 points) 12. Give the correct structure for the compounds having the following [UPAC names.

a) 3-ethyl-2 2-dimethylheptanc b} 4.5-diisopropylnonane
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